1.25 DIA L £.030 |-
THREAD PER ras
ASME B1.1
Attt
LU

FOR OPTIONAL TRIMMED
BASE ADD 750 SUFFIX
TO PART NUMBER.

~—.020 MIN

DISPOSABLE PRESSURE SENSITIVE
ADHESIVE FIXTURE HOLDS STUD
WHILE ADHESIVE CURES.

OPTIONAL PRIMER
THIS SURFACE.

STUD ATTACHED BY
ADHESIVE APPLIED
TO THIS SURFACE.

THREAD AND LENGTH DATA

(LENGTH CODE IN SIXTEENTHS OF AN INCH)

CODE | THREAD SIZE 250 | .312 [ .375 | 500 | .625 | .750 | .875 [1.000 [1.250 [1.500
632 .138-32 UNC-2A | 4 5 6 8 | 10 | 12 | 14 | 16 | 20 | 24
832 |.164-32 UNC-2A | 4 5 6 8 | 10 [ 12 | 14 [ 16 | 20 | 24
1024 [ .190-24 UNC-2A | 4 5 6 8 | 10 [ 12 | 14 | 16 | 20 | 24
1032 [.190-32 UNF-2A | 4 5 6 8 | 10 [ 12 | 14 | 16 | 20 | 24
1420 [ 250-20 UNC-2A | - | - 6 8 [ 10 [ 12 | 14 ] 16 | 20 | 24
1428 [ 250-28 UNF-2A | - | - 6 8 [ 10 [ 12 | 14 ] 16 | 20 | 24
51618/ .312-18 UNC-2A | - | - | - 8 | 10 [ 12 | 14 | 16 | 20 | 24
BASEPLATE MATERIAL AND FINISH STUD MATERIAL AND FINISH OPTIONAL BASEPLATE PRIMER
CODE | MATERIAL FINISH CODE | MATERIAL FINISH CODE | MATERIAL
AX | ALUMINUM NONE AX | ALUMINUM NONE P |EPOXY PRIMER
A [ ALUMINUM ANODIZE CR |300 SERIES CRES | PASSIVATE
CR |300 SERIES CRES | PASSIVATE CRM | 316 CRES PASSIVATE
CRM | 316 CRES PASSIVATE S |CARBON STEEL  |ZINC PLATE
C_| CARBON/EPOXY | NONE NOTES: 1. GLASS/EPOXY AND CARBON/EPOXY BASE STUD BASE
G | GLASS/EPOXY NONE THICKNESS IS .110 MAX.

2. GLASS/EPOXY AND CARBON/EPOXY COMPOSITE BASE
STUDS HAVE CRES TRIM WASHER.

EXAMPLE PART NUMBER

CS125-1052-10 AA CR 750 P

—L OPTIONAL BASEPLATE PRIMER

OPTIONAL TRIMMED BASE

STUD MATERIAL (IF DIFFERENT) — 300 SERIES CRES

BASEPLATE MATERIAL — ALUMINUM, ANODIZED
STUD LENGTH L — .625

THREAD SIZE — .190-32 UNF-2A

BASIC PART NUMBER

PROPRIETARY PARTS SHOWN IN THIS DRAWING ARE THE SUBJECT

“‘Nﬁémﬂ;m%&ﬁ%ggnﬁug I!mnéﬂgugzﬁ. OF ISSUED UNITED STATES AND FOREIGN PATENTS AND PATENTS I N C ARSON C|TY
A T B e sy sommnar o | (D] LU (DN \éyapa 9706

CAD €S125-1 APPROVAS DATE me
ANGLES i [™ DAC sz | O1UD, ADHESIVE BONDED
XX +.03 | cHecxm IDOCM%“ 1SEP16 SIZE CAGE CODE DWG. NoO. REV.
XXX xot0 b | 1seets | A | 66950 CS125 17
XXXX 1.001 | BPEREZ 1SEP16 [ 1/ | 1SEP16 EEECE




FOR OPTIONAL TRIMMED
BASE ADD 750 SUFFIX
TO PART NUMBER.

—]

~—.125 MAX
~—.020 MIN

DISPOSABLE PRESSURE SENSITIVE
ADHESIVE FIXTURE HOLDS STUD

1.25 DIA L2030 = WHILE ADHESIVE CURES.
OPTIONAL PRIMER
THREAD PER L~
ASME BT THIS SURFACE.
i
TR

STUD ATTACHED BY
ADHESIVE APPLIED
TO THIS SURFACE.

THREAD AND LENGTH DATA

(LENGTH CODE IN SIXTEENTHS OF AN INCH)

CODE | THREAD SIZE 250 | 312 | .375 | .500 | .625 | .750 | .875 |1.000 | 1.250 | 1.500
632 |.138-32 UNC-2A | 4 S 6 8 10 12 14 16 20 24
832 |.164-32 UNC-2A | 4 S 6 8 10 12 14 16 20 24
1024 [ .190-24 UNC-2A | 4 S 6 8 10 12 14 16 20 24
1032 [ .190-32 UNF-2A | 4 S 6 8 10 12 14 16 20 24
1420 | .250-20 UNC-2A | - - 6 8 10 12 14 16 20 24
1428 | .250-28 UNF-2A | - - 6 8 10 12 14 16 20 24
91618|.312—18 UNC-2A | - - - 8 10 12 14 16 20 24
BASEPLATE MATERIAL AND FINISH STUD MATERIAL AND FINISH OPTIONAL BASEPLATE PRIMER
CODE | MATERIAL FINISH CODE | MATERIAL FINISH CODE | MATERIAL
U |30% GLASS/PEl | NONE AX | ALUMINUM NONE P |EPOXY PRIMER
V |40% GLASS/PEI | NONE CR | 300 SERIES CRES | PASSIVATE
CRM | 316 CRES PASSIVATE
S |CARBON STEEL ZINC PLATE

EXAMPLE PART NUMBER

CS125-1052-10 V CR 750 P

—L OPTIONAL BASEPLATE PRIMER

OPTIONAL TRIMMED BASE

STUD MATERIAL (IF DIFFERENT) — 300 SERIES CRES

BASEPLATE MATERIAL — 40% GLASS/PEI
STUD LENGTH L - .625

THREAD SIZE — .190-32 UNF-2A

BASIC PART NUMBER

PROPRIETARY PARTS SHOWN IN THIS DRAWING ARE THE SUBJECT

“‘Nﬁémﬂ;m%&ﬁ%ggnﬁug I!mnéﬂgugzﬁ. OF ISSUED UNITED STATES AND FOREIGN PATENTS AND PATENTS I N C ARSON C|TY

A T B e sy sommnar o | (D] LU (DN \éyapa 9706
CAD €S125-2 APPROVAS DATE me

ANGLES i [™ DAC sz | O1UD, ADHESIVE BONDED

XX +.03 | cHecxm IDOCM%“ 1SEP16 SIZE CAGE CODE DWG. NoO. REV.

XXX xot0 b | 1seets | A | 66950 CS125 17

XXXX 1.001 | BPEREZ 1SEP16 [ 1/ | 1SEP16 EEI




DISPOSABLE PRESSURE SENSITIVE
ADHESIVE FIXTURE HOLDS STUD

31.8 DIA L +08 |— WHILE ADHESIVE CURES.
OPTIONAL PRIMER
THREAD PER e
TREAD TR THIS SURFACE.
FOR OPTIONAL TRIMMED 1
BASE ADD 19 SUFFIX (|
— 19,1 — TO PART NUMBER. 26 WX (D)
—1{}~—05 MN
STUD ATTACHED BY
ADHESIVE APPLIED
TO THIS SURFACE.
THREAD AND LENGTH DATA  (LENGTH CODE IN MILLIMETERS
CODEJTHREAD SIZE | 6 | 8 [ 10 [ 12 [ 15 [ 18 [ 20 [ 25 [ 30 [ 35
3M [M3 X 0569 | 6M | 8v [ 1om | 12m | 15M | 18m | 20 [ 25M | - [ -
M [M4 X 07 6g | 6M | av | 1om | 12m | 15M | 18M | 20M | 25M | 30m | 35M
5M [M5 X 0,8 6g | 6M | 8v | 1oM | 12 | 15M | 18M | 20M | 25M | 30m | 35M
6M [M6 X 1,0 6g | - | — [ 1om | 12m | 15M | 18M | 20M | 25M [ 3om | 35M
aM [M8 X 1256g] - | - [ = | - | 15M | 18M | 20M | 25M [ 3om | 35M
BASEPLATE MATERIAL AND FINISH STUD MATERIAL AND FINISH OPTIONAL BASEPLATE PRIMER
CODE | MATERIAL FINISH CODE | MATERIAL FINISH CODE | MATERIAL
AX_ | ALUMINUM NONE AX_ [ ALUMINUM NONE P [EPOXY PRIMER
M | ALUMINUM ANODIZE CR [300 SERIES CRES | PASSIVATE
CR [300 SERIES CRES | PASSIVATE CRM [316 CRES PASSIVATE
CRM [316 CRES PASSIVATE S [CARBON STEEL  [ZINC PLATE
C_| CARBON/EPOXY | NONE NOTES: 1. GLASS/EPOXY AND CARBON/EPOXY BASE STUD BASE
G_|GLASS/EPOXY | NONE THICKNESS IS 2,8 MAX.

EXAMPLE PART NUMBER

CS120-oM 1oM AA CR 19 P

2. GLASS/EPOXY AND CARBON/EPOXY COMPOSITE BASE
STUDS HAVE CRES TRIM WASHER.

—r— OPTIONAL BASEPLATE PRIMER
OPTIONAL TRIMMED BASE
STUD MATERIAL (IF DIFFERENT) — 300 SERIES CRES
BASEPLATE MATERIAL — ALUMINUM, ANODIZED

STUD LENGTH L = 15 mm
THREAD SIZE — M5 X 0,8 6g
BASIC PART NUMBER

UNLESS OTHERWISE SPECIFIED, ALL DIMENSIONS ARE

PROPRIETARY PARTS SHOWN IN THIS DRAWING ARE THE SUBJECT

IN MILLIMETERS AND TOLERANCES ARE AS SHOWN | OF ISSUED UNITED STATES AND FOREIGN PATENTS AND PATENTS ' ' CARSON CITY
ggﬂﬁsﬂﬁg%sazw IERANCES AND SiBoLs Eﬁr‘ﬁ?gﬁgzgp Egmw% lﬁgﬁégﬁ DISTRIBUTION OF THIS I@l__l—,[l@[rl(z @D\\D@ NEV AD A 89706
CAD CS125-3 APPROVALS DATE TME
METRIC DIMENSIONS A 18MAY12 STUD, ADH ESWE BONDED
ANGLES +1° CHECKED 1)0&“”&“ 1SEP16 SIZE CAGE CODE DWG. No. REV.
X 108 ==l | tsepis | A | 66050 CS125 (METRIC) |12
XX 10,25 | = RPREZ 1SEP16 | 1/1 | 1SEP16 |[semr 3" o 4




DISPOSABLE PRESSURE SENSITIVE
ADHESIVE FIXTURE HOLDS STUD

31.8 DIA L +08 |— WHILE ADHESIVE CURES.
OPTIONAL PRIMER
THREAD PER e
THREAD PER THIS SURFACE.
FOR OPTIONAL TRIMMED I
BASE ADD 19 SUFFIX | |l—32 uax
— 19,1 — TO PART NUMBER. 05 un
STUD ATTACHED BY
ADHESIVE APPLIED
TO THIS SURFACE.
THREAD AND LENGTH DATA  (LENGTH CODE IN MILLIMETERS
CODEJTHREAD SIZE | 6 | 8 [ 10 | 12 [ 15 | 18 | 20 | 25 | 30 | 3
3M M3 X 056g | 6M | oM | 10M | 12M | 15M | 18M | 20M | 25M | = | -
AM M4 X 0,7 6g | 6M | 8M | 10M | 12M | 15M | 18M | 20M | 25M | 30M | 35M
5M M5 X 0,8 6g | 6M | 8M | 10M | 12M | 15M | 18M | 20M | 25M | 30M | 35M
6M M6 X 1,0 65 | - | — | 10M | 12M | 15M | 18M | 20M | 25M | 30M | 35M
8 [MB X 1,25 6g] - | — | - | — | 15M | 18M | 20M | 25M | 30M | 35M
BASEPLATE MATERIAL AND FINISH STUD MATERIAL AND FINISH OPTIONAL BASEPLATE PRIMER
CODE | MATERIAL FINISH CODE | MATERIAL FINISH CODE | MATERIAL
U [30% GLASS/PEI | NONE AX_| ALUMINUM NONE P |EPOXY PRIMER
V_ [40% GLASS/PEI | NONE CR | 300 SERIES CRES | PASSVATE
CRM | 316 CRES PASSVATE
S |CARBON STEEL | ZINC PLATE

EXAMPLE PART NUMBER

CS120-oM 1oM V CR 19 P

—L OPTIONAL BASEPLATE PRIMER

OPTIONAL TRIMMED BASE

STUD MATERIAL (IF DIFFERENT) — 300 SERIES CRES
BASEPLATE MATERIAL — 40% GLASS/PEI

STUD LENGTH L = 15 mm
THREAD SIZE — M5 X 0,8 6g

BASIC PART NUMBER
B R e’ | (LIS [BIINID oy aonss
e ovensons [ DAC T maviz | STUD, ADHESIVE BONDED
T oo e et e A | 56530 | C5125 (METRIC) |72
XX £0,25 [ == BPIRIZ 1SEP16 =% 1/1 [ 1SEP16 IR




